11

2°
Number Bases in Positional § stems

O\lzl‘d\c Lives
L. Croes
. 1a =Y .
o O "9¢ numerals ln bases other than ten to ba

INge . dy_ = A ars
allge basge ten numerals to numerals in other

we arcs em (binary) ;
Not every System uses base ten (10 digits). Computers use a base _':/_'@40_,_' system (

C ;
%mcrals in Bases Other Than Ten to Base Ten
Thc basc of a po

.. . " O P alues.
Siional numeration system refers to the number whose powers define the place va

EXa
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To change a numeral in a base other than ten to a base ten numeral, /.
l. Find the place value for each digit in the numeral.
2. +al each digit in the numeral by its respective place value.
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Find the Sum of the products in step 2.

_Changing to base ten

EXample 2: Convert 4726 ’ to base ten. (Note: Read “Four, seven, two, six,base eight)
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1. Find the place value for each digit in the numeral:
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2. Multiply each digit in the numeral by its respective place value and find the sum.
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Example 4: Convert EC7iicen 10 base ten. ik b

\

Wt g+ T
A

358t + 192 + 7 -m
fen
Y ¥

Example 4a: Convert AD4icen 10 base ten.

016 + 1316+ 4
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Example 7: Convert the base ten numeral 299 to a base eight numeral.
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